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Answer all questions in answer book supplied.
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Name or any other identify of the candidate should not be uld;cated either in the question paper or in the
answer paper except in the-columns provided on the fly-leaf of the answer sheet,
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Candidates are not allowed to use Calcnlator

mﬁ%q&ﬁ#ﬁm%ﬂmmﬁaﬁm%mﬁ%mmﬁmﬁﬂ
FE, 3H W = aﬁ@“ 7 fhere, i feufa 7 sw wee & 3Rl &7 Siw A B s

In the answers 1o the objectwe questions, no corrections of ¢ any type like Cutting; Overwriting; Er asmg,
Scoring off a ticked answer in multiple choice & ticking another answer & modifying the answer in any
way efc., is permitfed. In Case any corrections is made, that answer will not be evaluated at all. ]

v .
Part A : 30 marks (Answer any three)
aET F ; 30 3 (Fredl s weat & 3eax &N

1. Write about coatse aggregate and fine aggregate. o [10 s=/marks]
w e vd W a9 # fod?

2. Explain about the Bridge and where it will be used.  Write about any two of
Minor Bridge; Major Bridge; Impo1tant Bridge. - [10 s/ marks|

-w%ﬁﬁﬁ@mmem%IWW a%fq;r AgeaquT Jell
:ﬁr?rﬁﬁ_é’ra‘ré?aﬁﬁﬁ@‘?

3. ' Write about combined foundation and isolated foundation. (10 aa‘aw/mm‘ks_]
T BIEIAT TS JUFROT SIS F AN 7 e
4. Write about Rain Water Harvesting; need for this; advantages of this.
[10 sm/marks]
I dley gradareT, mmwm gﬂﬁméﬁwﬁﬁ@’?
5. {a) Write about guard rails.
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__m)métaT%aﬁﬁﬁ@? - ~ [5 marks] *
(b) What is the importance of tree planta‘uon‘? : _
(@) gEAIOr &® Irg—cr Wﬁ;@‘? | ~ [Smarks} ¥

Part B : (Each caryy one mark: 30 Marks)
I @ (WeAw ¥ AT U 30 30 3F )

. The fundamenfal principle of surveying is to work from the

wfaror =T Awer gyl v F & Bl

- (=) @Ot AT 9T whole to'the part . (b) HEI\UIF {17 % HIRF part to the whole
(c) fﬁmﬁ TR & 398 TaC aF lower level to higher level

(d) 398 TR @ .FATer TR T% higher level to lower level.

. A check line in a chain surveying F&T & TderoT # 3% e T HTILAHeA-

{a) checks the accuracy of the framework SFareprl T giyeEerar & S

(b) enables the surveyor to locate the interior details Wthh are far away from the
main chain lines. TIETOTHAT gamer AT HET A @iz & AT Fawwr & TT =S F
ferw| | ' ' '

(c) fixes up the directions of all other lines. @sfr wnsat &r feematt & Fag =S &
Fre ,

(d) all of the above. 3&d. G

. The is an example of obstacle in which chainihg and vision are both
obstructed FAH H ---mm-m-mee- IETEIVT F AN W EAT Aot vd Fowte & aifda g1 &
(a) water body dfeT sTdr (b) building 3HRA

(c) both water body and building 2t afer g ARG - -
(d) aleT & off 78T & & ARG neither water body nor building
. The cementing property in cement is mainly due to fade & REik JHE Tcd. -
(a) T Lime (b) TR silica (c) 3R 3ifeFaTse iron oxide (d) 3BT alumina
. Le-chatelier method is used to determine ﬁ»‘r—ﬂ?ﬁ%m Getifd - &t ST & fow
daemd & | ' '
(a) initial setting of cement f&#T &1 i AT
- {b) fineness of cement f&Hz $r wEaTT

(c) soﬁndnes_s of cement T8He & 3narat

(d) normal consistency of cement f&#z & @A dordr :
. Disterper is used on ey = Y- 3 Frar S gl

_(a)brick walls @ @ (b) concrete surfaces Fifhe THE

* {¢) plastered surfaces exposed to weather ?g?-‘f areraeer # AT I ceneel
(d) plastered surfaces not eprsed to-weather el ATAMETYT 18] f3har 72 vemeel




7. The Rail gauge is the distance between ~—---- & e 7 gl & fow Yo A gar 3
() outer faces of Rails et i =Y 5w & : '
(b) running faces of Rails Yelf & =i q9 &
(0) centre to centre of Rails Yot % #ear s & #ewr sr & o
* (d) none of these 73 A FIg
8. The Rail section now~a—days used in Indian Railways is W HRAT ToT 7 et .
Tar ERD] g :
_ (a) double headed type 397 &5 WL T (b) dumb-bell type 57T 6T FehIT &I
(¢) bull headed type 3 39 werl & (d) flat footed type thee g Yhr H |
9, The Rail section is designated by its Y& d&emT #1 9 %?HWTT T B
(a) total length o dag - (b) total weight el Fotel
(¢) cross- sectional area T T E
(d) weight per meter length 9T X @@ &1 gat .
10. The deformation per unit length is i Ife dag #r Borfm —emeeeeeees &1
(2) tensile stress EfFT T/ (b) compressive stress I m
(c) shear stress X & (d) strain ¥eT '
11. The ratio of linear stress to the linear strain is fafeRR ®e1 & fav R FEQT &

(a) modulus of rigidity RMEE Agge (b) modulus of elasticity é‘@iﬁ?aﬁ’@f Aigga
(c) bulk modulus &% Higgd (d) Poisson’s ratio UEFHAY 3HqTe
12. A beam supported at both ends i is
A F Ol B W TG § AT eomreeme grarg. -
" {(a) simply supported beam TEROTAT 9T T (b) ﬁkcd beam AT $H
| (c) overhanging beam ¥R BT S (d) cantilever beam hfeferae e
13.Bending moment at the free end of a cantilever beam is |
' (a) zero =Y (bY minimum FYHTH (¢) maximum -3{&&HAH
{d) between minimum and maximum FYATH T R F o
14. Segregation in concrete results in

awifgre QRO & A/IASOT gar )

(a) Hard concrete FOR FHifFe -

(b) Reinforced cement concrete REmEse e ﬂﬁﬁ
(¢) honey combing =i IfFsar

(d) none of these SAF & HI$ G

15, Plain cement concrete is strong in taking
AR THFE Hifshe HAW BiaT 6l |
(a) tensile stress SRS T (b) compressive stress HFTHT TH
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16.

17.

18.

19,

20.

21,

22.

23.

- 24,

(c) shear stress 2fRIX FH (d) all of these. g5 & CaES E#ﬁr |

In singly reinforced beams, steel reinforcement is pr0v1ded in’

Tod FEEE @1 & e NEERde sueey gdr gl

(a) tensile zone ETH A (b) compl‘essive zone aﬁ’ﬁ@a’ et
{c) both tensile and compressive zones g Eﬁfl‘cir 1] Wﬁlﬁ‘d e
(d) neutral zone TeEY HIH

Water supply system means -

qied TOAS Yultell At

'(a) entire scheme of collection and disposal of liquid waste

APR geT SHeaT BT UF TaerT & Hyol diefan
(b) the complete-layout from the source of supply to the distribution
Foel$ T & faeor F T ol e f
(¢ ) construction of reservoirs NTARRY T AT LAl
(d) construction of canals Ferell I rHOT WA
The earth’s water circulatory system is known as :
A # TETT YOI B oo F o0 7 FRU AT 51
(a) water cyclediet @g@wer  (b) hydiological cycle geglcllioienel AT3hol
(c) precipitation cycle HfafRtee asha (d) all of these 3o & & 2T

Tt [ndia, as per Indian Standards, water consumption per cap1ta per day for domestic
purpose is ___litres .

LT #H, Wm%mwmméﬁﬁmﬁ‘uﬁﬂmﬁrmw --------
e &
_(a) 90 (b) 105 (c) 120 (d). 135

. i .
pH value is a symbol for - concentraf;cion HIEACYUA & 0 dwa & v
G ag— g ¥l K
(a) magnesium FIATATT (b) hydrogen BTEga=
(c) calcium SHferras (d) sodium BRTT :
Aeration of water is done to remove deL TGLRT EFU# I P gerr Sar &

(a) odour 37EX (b) colour e (¢) bacteria éa»”c'f‘{m (d) hardness FIAT
ROB stands for 3378 & Aday § - ‘ :

(a) Road On Bridge 9@ W S¥T (b) Road Over Bridge Yger Jer
(c)Botha&bawl & o @ A (d) None of these 598 & 18 aé’r

Sand replacement method is used to test the strength of

’maﬂmwﬁﬁmﬁgmﬁﬁmﬁaﬁrmm%s

(a) Concrete Hifhe (b) Barth Sﬁ?ma (c) Steel ¥ (d) Brick §e

Effective depth is the distance from the top of the beam to the of thé '

. tensile reinforcement in a simply supported beam.

0 S B N




- 25:

26.

27.

28.

29.

30.

_____ mwwwmmﬁﬂ%ﬁvwmﬁ@
7 ¥ suT &

(a) Centre e (b) Top W (c) Bottom freram (d) End of beam &1# & 3 i
In RCC structures, tension is taken care by .

mmmﬁﬁtwaﬁmﬁrmﬁ%

 (2) BRI Concrete  (b) T Steel () & Eh‘lﬁ? T @ Both Concrete and

Steel (d) & & FIhIT o & T Neither Concrete nor Steel.

FOB with steps is used to carry TR Fores FE QT W 3T

(a) Two wheelers. gF ufg@ (b) Four wheelers =¥ q%'v;r (c) Persons @&l & fow (d)
Bullock carts Semisal & fow .

dreEer gl ® qreEd A In “PSC Bridge™, PSC Stands for

(2) Public Service Commission @ FaT 3HTITeT

(b) Pre Stressed Concrete §f g Hifde

(c) Pre Stressed Cemeni o Fe¥5 Td

(d) Pre Stressed Cooler 3 ®¥s T

Limit State Mehod is used for designing

3¥encT & TOT ol Y GUITel T ORI SrAr §) '
(a) Earth work {3 & (b) Structmes T (¢) Water supply 9= &1 ‘HUHTé'
(d) Sewerage system, LT YuTel -

Y6 T & - mmmmmmmm e o wmuﬁaﬁmﬁmmaﬂmﬁl

Super elevation is provided in track on

(a) Straight track e @9y (b) Curved track aF o

{c) Both on Straight and Curved Track &7 EIT Tq. @ Ja9YT

{d) Neither on Straight and Curved Track &Il €187 Ud & i"ﬂtrir e
Angle of 150mm x 150mm x 16mm relates to

150 &3y x 150 T8y x 16 el & $Io7 & |98

(a) Structural Steel Tearde T (b) Reinforcement TECI e
(¢) Coarse Aggregate 1 A (d) Fine aggregate

Part C : (40 mﬁrlg -
$TIT 31 (40 amj*)

M#mmﬁmﬁmammmyﬁml(ﬁmmaﬁmwﬁ
5 3®)
In the following, choose the word opposite in meamng to the given wor d {Each

. question carries one mark : 3 mdrks)

1. Affirmative
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(a) Negat1ve (b) Posmve (e) Confirm (d) Correct
2. Opaque
(a) Clear (b) Obstruction (e) Transparent (d) Not visible
3. Difficult -
(a) Problem (b} Easy (c) Hard (d) Not
4. Defect
" (a) Ugly (b) Bad (¢) Imperfect (d) Periect
5. Safe -
- (a) Danger (b) Protee‘uve (c) Sate custody (d) Settled

b)%ﬁﬁﬁﬁ#mﬁﬁmmﬁﬂmﬁl(mmaﬁmwm 531'65)

In the following, choose the word which best express same meaning (Each 7
question carries one mark : 5 marks) : :
- 1. Redundant '
(a) Not required (b) Required (c) Needed (d) Light
2. Excellent
(a) Outstanding (b) Bad (¢) Worse (d) Worst
3. Lenient
(a) Harsh (b) Mild (c) Strict (d) Unforglvmg
4. Enormous
(a) Huge (b) Less (¢) Blank (d) Empty
5. Meeting ‘
(a) Assembly (b) Apart (¢) Leaving (d) D1spense

) ﬁﬁalﬁmmmﬁgﬁﬁwm(memwm 4 3F)

Fill in the blanks with preposition (Each blank carries one mark : 4 m‘lrks) I
1. lwasborn__ - April _
(a) On (b) In (e) At (d) During

2. The farmer wakesup __ sunrise’
(a) at (b) on (c) of (d) in

3. We moved into our apartment 2019
(a)on(b) at (¢) in (d) of

4. She hurt her arm when she fell _ her bike.
- () down (b) off (c) in (d) on ‘

- d) Wﬂ##ﬁyﬁmwmgmﬁmmm (Wﬁ:ﬁmw
3F . 6 HF) :
From the following questions, choose the response which glves the correet

meaning (Each carries one mark : 6 marks)
1. Lions share

(a) No share at all (b) Greater share of a thing (c) Mlse1 ly (d) Very small item
2. Be inthe good books -

(a) To have bad impression (b) Have a good impression (¢) To be bad with all (d) Not ‘
talkmg with others

" 3. From piller to post

6 -
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- (a) Not movi.ng- (b) Talking to all (¢) From place to place (d) To stand at one place
4. At the eleventh hour '

(8) At 11 O’ clock (b) At the last moment (¢) At the beginning (d) At the end.
5. Blessing in disguise '

. (a) Something good (b) Sometlung bad (c) Neither good or bad (d) Both good and bad
6. Ball in Your court

- (a) Upto You to make the decision (b) Upto You for not to take dec1810n (c) Botha &
b {d) Neither a nor b

¢) ﬁmﬁﬁaﬂm%ﬁ(mﬁﬁv1 3w 20 3w) ¥
~ Answer the following (Each carries one mark : 20 marks)
1. With which sport Sachin Tendulkar is associated?

T dgerht Fw-T BT o3 &
- (a) Tennis 3@ (b) Basket Ball arehe diw
(c) Cricket fpe (d) Badminton d3fHesT
2. Satellite lanching station 1s located at 39TE 38T FCUT “qa"ET g B
(a) Solapur HETT (b) Sribarikota AeRarer (c) Salem Werd (d) Warangal aiaTel
- 3. The BLACK FLAG significs &rar £as 7 Aded &
(a} Danger @am (b) Peace 2ict (c) Protest B2 (d) Support dgrram
4. The chief purpose of crop rotation is to check the loss of top soil
B BT Feolel P YHAE FRUT FUA AL & ST FHAT B
' (a) by water erosion 9T & Eh‘cSTET (b) by wind erosion 9de ®erd &
- (e)by weathenng Ae\w 7 (d) @i 9g1y & of its mineral content
5. THOMAS CUP is associated with 21#8 &9 fw oo & T grar §1
(2) Billiards feardy ~ (b) Badminton ¥3f¥cat
(¢) Lawn Tennis &1 3@ (d) Table Tennis eder e ,
6. Every vear, International Womens Day is celebrated on widad, WPEW ?F@FIT
feaq & 3=m=T ST B :
(2) 05" March/AT (b) 06" March/#ms (c) 07™ March/#T (d) 08 Malchfim‘t‘r
7. The members of Lok Sabha hold Office for a term of
A W TEET A FASA Frer grar
(a) Four years @R a@§  (b) Five vears uiel a¥
(¢) Six years B a¥ (d) Seven years |1d. g
- 8. Minimum age of voter in India is FIE 2 H #IATH 1Y ]
(a) 16 years ¥ (b) 18 years ¥ (c¢) 20 years @9 (d) 22 years a¥
9. The Indian Tnstitute of Science is located at FRAT FrawT Fea=T el U &
() Bangalore S9To[® (b) Hyderabad gerEmg
(¢) Chennai d=T (d) New Delhi ®% ot _
10. Teachers Day is observed on tay® RF® Fd HART AT 1.

|
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() 05" August 3mTed (b) 05™ September frdat
(©).05% October 3@qsR  (d) 05™ November #day
11. Kathakali is a folk dance prevalent in FYFAT oleh T W 'c‘:Qr &I B

(&) Andhara Pradesh 3T swer (b) Telangana delemaT
(c) Kerala el ' : (d) Tamil Nadu af#er1g .
12. __isknown as IRON MAN OF INDIA &1 T8 & T H —memmemmeeee
T S AT R . |

" (a) Sardar Vallabhbhai Patel TWER TeafArg 9o :

(b) Pandit Nehru 9i8d 788 (¢) Atal Bihari Vaj payee yTe TRy araay
(d) Gyani Zail Singh 7=l 3@ &g

- 13. Average of 15;25;30; 30 is &T 3@asT _

(a)42 (b)43 (c)44 (d) 25
14. Area of Square of Sm side 1s ____ Square meters.

AT & SR & UF WAR H aT0el I 3
(a) 10 (b) 15 (c) 20 (d)25 .
15, LCM of 20; 30; 40 is # TAHITH
(2) 100 (b) 110 «(c) 120 (d) 130 - ' -
16. Which is the next number in the series of 25; 36; 49
25; 36; 49; TS & 3oTar b 's"mT%l
(@) 34 (b)44 (¢) 54 (d) 64 ' _
17. HEd: GIRTOT Oivad AlAsT oeTeeT | AlE 7 3RH BIar gt
 South West Monsoon is generally expected to begin around begiﬁning of,
(2) April 319 (b) June ST (c) August IITEA (d) October 3TeFcfal
18, Time difference between each longitude (each degree)is __ _ minutes
mm(ﬂ%%ﬁ)ﬁmmmm AT gIam &,
@4 (56 ()8 (d) 10 | |
19, MR I A m:cr?r BT &1 Gobar Gas contains mainly
' (a) Carbon di oxide Frawf §T§ 3TFATEE (b) Nl‘rrogen ATSCISTe (c) Methane #eeT
' (d) Hydrogen Qe
20. gféror afes @ @ gue mﬁm # ﬁ»‘am tl
Headqualtel of South Western Railway is situation at .
(a) Bengaluru §3T¢[% (b) Mysore YT (c) Secunderabad @m?»ﬂ?
(d) Hubballi. gs—q'F“ar
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